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ALPHABETICAL TEST
Practice
Sheet

1. Which letter will come 4th to the left of 12th from left ?

ck,a ls 12osa ds ck,a ls pkSFks LFkku ij dkSu&lk v{kj vk,xk\
(a) J (b) L

(c) H (d) F

2. Which letter will come 7th to the left of 17th from left ?

ck,a ls 17osa ds ck,a ls 7osa LFkku ij dkSu&lk v{kj vk,xk\
(a) L (b) K

(c) M (d) J

3. Which letter will be sixth to the left of the nineteenth

letter from the right end of the alphabet?

o.kZekyk ds nk,¡ Nksj ls mUuhlosa v{kj ds ck;ha vksj NBk v{kj dkSu&lk
gksxk\
(a) M (b) X

(c) Y (d) None of these

4. Which of the following is the twelth letter to the left of the
seventeenth letter from the left end?

fuEufyf•r esa ls ck,a Nksj ls l=kgosa v{kj ds ckb± vksj ckjgoka v{kj
dkSu&lk gS\
(a) E (b) F

(c) G (d) T

5. Which letter is seventh to the right of the eighteenth letter
from the right end of the alphabet?

o.kZekyk ds nk,¡ Nksj ls vBkjgosa v{kj ds nk,¡ vksj ls lkrok¡ v{kj
dkSu&lk gS\
(a) K (b) O

(c) P (d) R

6. Which letter will come 8th to the right of 22th from right ?

nk,a ls 22osa ds nk,a 8osa LFkku ij dkSu&lk v{kj vk,xk\
(a) M (b) N

(c) L (d) O

7. Which letter will come 7th to the right of 17th from right ?

nk;sa ls 17osa ds nk;sa ls lkrosa LFkku ij dkSu&lk v{kj vk,xk\
(a) P (b) Q

(c) O (d) S

8. Which letter will come 8th to the left of 10th from right ?

nk,a ls 10osa ds ckbZa vksj 8osa LFkku ij dkSu&lk v{kj vk,xk\
(a) G (b) I

(c) H (d) J

9. Which letter will come 9th to the Right of 10th from left ?

dkSu&lk v{kj ck;sa ls 10osa ds nk;sa ls 9osa vk;sxk\
(a) S (b) I

(c) Q (d) U

10. Which letter will come 18th to the Right of 12th from left ?

ck,a ls 12osa ds nk,¡ ls 18osa LFkku ij dkSu&lk v{kj vk,xk\
(a) O (b) W

(c) H (d) Can’t be determined

11. Which letter will come 4th to the right of 8th to the left of
12th from right ?

dkSu&lk v{kj 8osa v{kj ds nk;ha vksj ls pkSFks vkSj nk;ha vksj ls 12osa ds
ck;ha vksj vk,xk\
(a) O (b) P

(c) L (d) K

Direction : Each of the following questions is based on the
following alphabet series:

funsZ'k % fuEufyf•r esa ls çR;sd ç'u fuEufyf•r o.kZekyk J`a•yk ij
vk/kfjr gS%

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

12. Which letter is exactly midway between g and q in the
given alphabeet.

fn, x, o.kZekyk esa G vkSj Q ds chp dkSu&lk v{kj fcYdqy eè; esa gS\
(a) K (b)  L

(c) M (d)  N

13. When letter is midway between the eighteenth letter from
the left end and tenth letter from the right end of the
given alphanet?

ck,a v{kj ls vBkjgosa v{kj ds chp esa dkSu&lk v{kj gS vkSj fn, x,
o.kZekyk ds nkfgus Nksj ls nloka v{kj gSA
(a) No letter (b)  K

(c) Q (d)  R

(e)  None of these

14. Which letter in the alphabet is as far from G as T is from
M?

o.kZekyk dk dkSu&lk v{kj G ls mruk gh nwj gS ftruk T, M ls nwj gS\
(a) M (b)  N

(c) O (d)  P

15. If the above alphabet are divided into two equal halves
from A to M and N to Z, which letter in the later half
would be corresponding to the letter J?

;fn mijksDr o.kZekyk dks nks leku fgLlksa esa foHkkftr fd;k tkrk gS &
A ls M vkSj N ls Z, rks ckn ds vk/s esa dkSu&lk v{kj J ds vuq:i
gksxk\
(a) Q (b)  V

(c) X (d)  W

16. Which letter is sixteenth to the right of the letter which
is fourth to the left of I?

I ds ck;ha vksj ls pkSFks v{kj ds nk;sa ls lksygok¡ v{kj dkSu lk gS\
(a) S (b) T

(c) U (d) V

(e) Y

17. Which letter will be eighth to the right of the third letter
of the second half of the English alphabet?

vaxzsth o.kZekyk ds nwljs Hkkx ds rhljs v{kj ds nk;sa ls vkBoka v{kj dkSu
lk gksxk\
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(a) V (b) W

(c) X (d) Y

18. If the above alphabet are divided into two equal halves -
from A to M and N to Z, which letter in the later half
would be corresponding to the letter J?

;fn mijksÙkQ o.kZekyk dks nks cjkcj Hkkxksa esa foHkkftr fd;k tkrk gS & A
ls M vkSj N ls Z rd] rks ckn ds vk/s Hkkx esa dkSu lk v{kj J v{kj
ds vuq:i gksxk\
(a) Q (b) V

(c) X (d) W

19. Which letter will be sixth to the left of the nineteenth
letter from the right end of the alphabet?

o.kZekyk ds nk,¡ Nksj ls mUuhlosa v{kj ds ck;ha vksj NBk v{kj dkSu lk
gksxk\
(a) M (b) N

(c) X (d) Y

(e) None of these

20. Which of the following is the twelth letter to the left of
the seventeenth letter from the left end?

fuEufyf•r esa ls ck,a Nksj ls l=kgosa v{kj ds ckbZa vksj ckjgoka v{kj dkSu
lk gS\
(a) E (b) F

(c) G (d) T

(e) None of these

21. Which letter is seventh to the right of the eighteenth
letter from the right end of the alphabet?

o.kZekyk ds nk,¡ Nksj ls vBkjgosa v{kj ds nk,¡ vksj ls lkrok¡ v{kj dkSu
lk gS\
(a) K (b) O

(c) P (d) R

(e) None of these

22. If the order of the English alphabet is reversed, then
which letter would be exactly in the middle?

;fn vaxzsth o.kZekyk dk Øe mYVk dj fn;k tk, rks dkSu lk v{kj Bhd
chp esa gksxk\
(a) L (b) M

(c) N (d) None of these

23. If the above alphabet is written in the reverse order,
which will be the eighth letter to the right of O?

;fn mijksÙkQ o.kZekyk dks mYVs Øe esa fy•k tk,] rks O ds nkb± vksj
vkBoka v{kj dkSu lk gksxk\
(a) F (b) G

(c) V (d) W

(e) None of these

24. If the above alphabet is written in the reverse order,
which will be the fifth letter to the left of the ninth letter
from the right?

;fn mijksÙkQ o.kZekyk dks mYVs Øe esa fy•k tk,] rks nk,¡ ls ukSosa v{kj
ds ckbZa vksj ik¡pok¡ v{kj dkSu lk gksxk\
(a) P (b) N

(c) D (d) W

(e) M

25. If the above alphabet is written in the reverse order,
what will be the fourth letter to the right of the thir-
teenth letter from the left?

;fn mijksÙkQ o.kZekyk dks mYVs Øe esa fy•k tk,] rks ck,a ls rsjgosa v{kj
ds nkbZa vksj pkSFkk v{kj D;k gksxk\
(a) J (b) K

(c) L (d) M

26. If only the first half of the given alphabet is reversed,
how many letters will be there between K and R?

;fn fn, x, o.kZekyk ds dsoy igys vk/s Hkkx dks mYVk dj fn;k tk,]
rks K vkSj R ds chp fdrus v{kj gksaxs\
(a) 6 (b) 10

(c) 14 (d) 16

(e) None of these

27. If the alphabet is written in the reverse order and every
alternate letter starting with Y is dropped, which letter
will be exactly in the middle of the remaining letters of
the alphabet?

;fn o.kZekyk dks mYVs Øe esa fy•k tk, vkSj Y ls 'kq: gksus okys çR;sd
oSdfYid v{kj dks gVk fn;k tk,] rks o.kZekyk ds 'ks"k v{kjksa ds Bhd
chp esa dkSu lk v{kj gksxk\
(a) M (b) N

(c) O (d) M or O

(e) None of these

28. In the given alphabet, starting from the fifth letter from
the left, if twelve letters are written in reverse order, then
which letter will be the seventh to the left of the
fourteenth letter from the right?

nh xbZ o.kZekyk esa ck,a ls ikaposa v{kj ls 'kq: djds ckjg v{kj mYVs Øe
esa fy•s tk,a rks nk,a ls pkSngosa v{kj ds ck,a ls lkroka v{kj dkSu lk gksxk\
(a) H (b) L

(c) M (d) N

(e) None of these

29. Suppose the first and the second letters of the English
alphabet changed places, also the third and the fourth,
the fifth and the sixth, and so on. In the new alphabet,
thus formed which letter would be the 14th?

eku yhft, fd vaxzsth o.kZekyk ds igys vkSj nwljs v{kjksa us LFkku cny
fn;k] rhljs vkSj pkSFks] ikaposa vkSj NBs] vkSj blh rjgA bl çdkj cuh ubZ
o.kZekyk esa 14ok¡ v{kj dkSu lk gksxk\
(a) H (b) K

(c) L (d) M

30. If A interchanges position with B, similarly C and D
interchange positions and so as E and F and so on upto
Y and Z, then which of the following will be seventh from
the left?

;fn K] B ds lkFk LFkku cnyrk gS] blh çdkj C vkSj D] E vkSj F
ds lkFk LFkku cnyrs gSa vkSj blh çdkj Y vkSj Z rd LFkku cnyrs gSa]
rks fuEufyf•r esa ls dkSu ck,a ls lkroka gksxk\
(a) A (b) F

(c) I (d) None of these

31. If in the English alphabet every fourth letter is re- placed
by the symbol (*), which of the following would be seventh
to the left of the fourteenth element from the left?

;fn vaxzsth o.kZekyk esa gj pkSFks v{kj dks çrhd (*) }kjk çfrLFkkfir
fd;k tkrk gS] rks ck,a ls pkSngosa rRo ds ckbZa vksj ls fuEufyf•r esa ls
dkSu lk lkroka gksxk\
(a) G (b) H

(c) T (d) *

(e) None of these
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32. If 1st and 26th, 2nd and 25th, 3rd and 24th, and so on,
letters of the English alphabet are paired, then which of
the following pairs is correct?

;fn vaxzsth o.kZekyk ds igys vkSj 26osa] nwljs vkSj 25osa] rhljs vkSj 24osa]
bR;kfn v{kjksa dks tksM+k tk,] rks fuEufyf•r esa ls dkSu lk tksM+k lgh gS\
(a) GR (b) CW

(c) IP (d) MP

(e) EV

33. If every alternative letter of English alphabet from B
onwards (including B) is written in lower case (small
letters) and the remaining letters are capitalized, then
how will the first month of the second half of the year be
written?

;fn B ls vkxs (B lfgr) vaxzsth o.kZekyk ds çR;sd oSdfYid v{kj dks
NksVs v{kj (NksVs v{kj) esa fy•k tk, vkSj 'ks"k v{kjksa dks cM+s v{kjksa esa
fy•k tk,] rks o"kZ dh nwljh Nekgh dk igyk eghuk dSls fy•k tk,xk\
(a) July (b) AuGuSt

(c) JULY (d) AugUSt

34. If every alternate letter starting from B of the given
alphabet is written in small letters, rest all are written
in capital letters, how will the month of 'September' be
written?

;fn fn, x, o.kZekyk ds B ls 'kq: gksus okys çR;sd oSdfYid v{kj dks
NksVs v{kjksa esa fy•k tk,] ckdh lHkh dks cM+s v{kjksa esa fy•k tk,] rks
^flracj* dk eghuk dSls fy•k tk,xk\
(a) SEpteMbeR (b) SEptembER

(c) sePTemBeR (d) SEptEMbEr

(e) None of these

35. If the alternate letters in the given alphabet starting from
A are written in small and rest all in capital letters, which
of the following will represent the third month after July?

;fn fn, x, o.kZekyk esa A ls 'kq: gksus okys oSdfYid v{kjksa dks NksVs
v{kjksa esa fy•k tk, vkSj ckdh lHkh v{kjksa dks cM+s v{kjksa esa fy•k tk,]
rks fuEufyf•r esa ls dkSu lk tqykbZ ds ckn rhljs eghus dk çfrfuf/Ro
djsxk\
(a) OCTOBER (b) OCtObEr

(c) october (d) ocToBeR

36. In the following alphabets, which letter is eighth to the
right of the fourteenth letter from the right end?

fuEufyf•r o.kZekyk esa nk;sa Nksj ls pkSngosa v{kj ds nk;sa ls vkBoka v{kj
dkSu lk gS\

Z A BC D E F G H I J K L M N O P Q R S T U V W X Y

(a) H (b) R

(c) S (d) T

37. A B C D E F G H

Which letter is second to the left of the letter immediately
to the left of the letter which is fourth to the right of the
letter immediately to the left of the letter which is second
to the left of the letter D?

dkSu lk v{kj ml v{kj ds ck;ha vksj ls nwljs LFkku ij gS tks v{kj ds
Bhd ck;ha vksj gS tks v{kj ds nk;sa ls pkSFks LFkku ij gS ml v{kj ds Bhd
ck;ha vksj tks v{kj D ds ck;ha vksj ls nwljs LFkku ij gS\
(a) A (b) B

(c) C (d) D

38. K L M N O P Q R

Which letter is fourth to the right of the letter immediately
to the left of the letter immediately to the left of the letter
which is third to the right of the letter immediately to
the left of the letter L?

dkSu lk v{kj] v{kj ds Bhd ck;ha vksj] v{kj ds Bhd ck;ha vksj] v{kj
ds Bhd ck;ha vksj] v{kj ds Bhd ck;ha vksj] v{kj L ds Bhd ck;ha vksj]
v{kj ds nk;sa ls rhljs LFkku ij pkSFkk gS\
(a) O (b) P

(c) Q (d) R

39. Which letter will be sixth to the right of the third letter
from the left of the letter which is exactly in the middle
of the letters in the series given below?

uhps nh xbZ Jà•yk esa v{kjksa ds Bhd chp esa vkus okys v{kj ds ck;ha vksj
ls rhljs v{kj ds nk;sa ls NBk v{kj dkSu lk gksxk\

A B C D E Z Y X W V Q R S T U F G H I J K L M N O P A

(a) F (b) G

(c) Q (d) R

(e) None of these

Directions (40-42) : If letters from A to M were written,
leaving space for one letter between every two letters, and
then the remaining letters were inserted, beginning with N and
ending the series with Z after M, answer the following
questions:

funZs'k (40&42)% ;fn A ls M rd v{kj fy•s x, Fks] çR;sd nks v{kjksa
ds chp ,d v{kj ds fy, txg NksM+dj] vkSj fiQj 'ks"k v{kjksa dks N ls 'kq:
djds vkSj M ds ckn Z ds lkFk J`a•yk lekIr djrs gq, Mkyk x;k Fkk] rks
fuEufyf•r ç'uksa ds mÙkj nsa %

40. Which letter would be third to the right of the seventh
letter from the left?

ck,a ls lkrosa v{kj ds nk;sa ls rhljk v{kj dkSu lk gksxk\
(a) C (b) O

(c) R (d) S

41. Which letter would be exactly between D and K?

D vkSj K ds Bhd chp esa dkSu lk v{kj gksxk\
(a) S (b) T

(c) V (d) W

42. Which letter would be exactly in the middle of the

eighteenth letter from the beginning and fifteenth from

the end?

vkjaHk ls vBkjgosa vkSj var ls iaægosa v{kj ds Bhd eè; esa dkSu lk v{kj
gksxk\
(a) G (b) H

(c) J (d) L

Directions (43-45): If all the letters from A to Z were

written as A_C_E_G_ uto Y, i.e., dropping each alternate letter,

leaving blank spaces and then all the blanks were filled in

with remaining letters in reverse order, i.e., AZCXEV... ending

with B, answer the following questions:

funZs'k (43&45) % ;fn A ls Z rd lHkh v{kjksa dks A_C_E_G_ ls
Y rd fy•k tkrk gS] vFkkZr] çR;sd oSdfYid v{kj dks gVkdj] fjÙkQ LFkku
NksM+ fn;k tkrk gS vkSj fiQj lHkh fjÙkQ LFkkuksa dks mYVs Øe esa 'ks"k v{kjksa ls Hkj
fn;k tkrk gS] vFkkZr] AZCXEV---ch ls lekIr gksus okys fuEufyf•r ç'uksa ds
mÙkj nsa%
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43. Which letter is to the right of sixteenth letter from the

left corner?

ck,a dksus ls lksygosa v{kj ds nkbZa vksj dkSu lk v{kj gS\
(a) M

(b) N

(c) Q

(d) R

44. Which letters are exactly in the middle of the nineteenth

letter from the left and fourteenth letter from the right

end?

dkSu ls v{kj ck,a ls mUuhlosa v{kj vkSj nk,a Nksj ls pkSngosa v{kj ds

Bhd eè; esa gSa\

(a) O (b) N

(c) L (d) P

45. Which letter would be placed between Q and S?

Q vkSj S ds chp dkSu lk v{kj j•k tk,xk\

(a) H (b) J

(c) L (d) R

Answer-Key

1. (c) 2. (d) 3. (d) 4. (a) 5. (c) 6. (a) 7. (b) 8. (b) 9. (a) 10. (d)

11. (d) 12. (b) 13. (a) 14. (b) 15. (d) 16. (c) 17. (c) 18. (d) 19. (e) 20. (a)

21. (c) 22. (d) 23. (b) 24. (b) 25. (a) 26. (c) 27. (b) 28. (e) 29. (d) 30. (d)

20. (a) 32. (e) 33. (c) 34. (d) 35. (d) 36. (d) 37. (b) 38. (b) 39. (b) 40. (c)

30. (b) 42. (b) 43. (c) 44. (c) 45. (b)

Answer With Explanation

1. (c) H

4  Leftth
12  Leftth

8  (from Left) = H
th

2. (d) J

7  Leftth
17  Leftth

10  (from Left) = J
th

3. (d) None of these

6  Leftth
19  Rightth

25  (from Right)th

From left,

 27 – 25th (from Right)

 2nd (from Left) = B

4. (a) E
12  Leftth

17  Leftth

5  (from Left) = E
th

5. (c) P

7  Rightth
18  Rightth

11  (from Right)
th

From left,
 27 – 11th (from Right)

 16th (from Left) = P

6. (a) M

8  Rightth
22  Rightth

14  (from Right)
th

From left,

 27 – 14th (from Right)

 13th (from Left) = M

7. (b) Q

7  Rightth
17  Rightth

10  (from Right)
th

From left,

 27 – 10th (from Right)

 17th (from Left) = Q

8. (b) I

8  Leftth
10  Rightth

18  (from Right)
th

From left,

 27 – 18th (from Right)

 9th (from Left) = I
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9. (a) S

9  Rightth
10  Leftth

19  (from Left) = S
th

10. (d) Can’t be determined

18  Rightth
12  Leftth

30  (Left)
th

English alphabet esa A to Z (1 ls 26) rd Letter gksrs gSA
11. (d) K

bl Question esa ge lcls igys  from ds lkFk tks fn;k gS mldks
solve djsxs eryc 4R, 8L, 12R esa ge 8L vkSj 12R dks solve

djsasxsa
8  Leftth

12  Rightth

20  Right
th

vc tks Result 20R vk;k gS] mldks 4R ds lkFk solve djsasxsaA

20  Rightth4  Rightth

16  Rightth

From left,

 27 – 16th Right

 11th Left = K

12. (b) There are nine letters between G and Q the middle

letter is L.

13. (a) The 18th letter from the left is R and the 10th letter

from the right is Q. no letter lies between Q and R.

14. (b) T is 7th letter to the right of M. The 7th letter to the

right of G is N.

15. (d) J is the 10th letter in the first half. The 10th letter in

the later half is W.

16. (c) I – 4 + 16  I + 12 = 21st i.e. U.

17. (c) 3rd letter of second half  13 + 3 = 16th i.e. P

 P + 8 = X

18. (d) J's position = 10

In second half the 10th letter  13 + 10 = 23rd i.e. W.

19. (e) Left = 6

Right = 19

+

Right = 25

    Left = (26 + 1) - 25 = 2 i.e. B

20. (a) Left = 12

Left = 17

–

Left = 5 (E)

21. (c) Right = 18 – 7 = 11th

Left = 27 – 11 = 16th i.e. P

22. (d) Since there are only 26 letters in English alphabet,

no letter would be exactly in the middle.

23. (b) Since alphabet are in reverse order

 O (15) – 8 = 7th i.e. G

24. (b) Right  9 + 5 = 14th i.e. N

( Series is in reverse order)

25. (a) Left  13 + 4 = 17th

Right  27 – 17 = 10th i.e. J

( Series is in reverse order)

26. (c) Now the series is:

M L K ...... CBA NOPQR ....... XYZ

Number of letters before K in original (A-Z) series 

K – 1 = 10

Number of letters before R in second half  R – 1 – 13

= 4

 Total letters between K & R  10 + 4 = 14

27. (b) The new series: ZXV ..... FDB (even series)

Total letters = 13

Middle letter  
13 +1

2
 = 7th

7th letter  7 × 2 = 14th i.e. N

28. (e) ABCD PON ........ GFEQR ........ XYZ

Right  14 + 7 = 21st

Left  27 – 21 = 6th

6th letter in this series = O

29. (d) In this order 13th & 14th letters change places

 14th letter  13th letter i.e. M

30. (d) In original series the 7th letter from Left end = G

 G & H will interchange their places

 H

31. (a) Every letter of which place value is divisible by 4, will

be represented by (*).

Left = 14 – 7 = 7th i.e. G

32. (e) In this order we will get opposite letter pairs.

 EV

33. (c) Odd letters = Capital

Even Letters = Small

1st month of 2nd half  JULY = jUlY

34. (d) September = SEptEMbEr

35. (d)  Odd letters = Small

Even letters = Capital

July + 3  October = ocToBeR

36. (d) Right = 8

Right = 14

–

Right = 6

Total letters = 26

Left  (26 + 1) – 6 = 21

In the given series 21st letter from left = T

37. (b) D – 2 – 1 + 4 – 1 – 2  D – 2 = B

(for left use '–' & for right use '+')
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38. (b) L – 1 + 3 – 1 + 4  L + 4 = P

39. (b) There are 27 letters in the given series.

Middle letter 
27 1

2


 = 14th i.e. T (in given series)

T – 3 + 6  T + 3 = G

(40-42) : The given series will be:

AN BO CP ...... KX LY MZ

40. (c) Left  7 + 3 = 10th i.e. R

41. (b) D is 7th letter

K is 21st letter

Midway  
7 21

2


 = 14th i.e. T

42. (b) 18th letter from start = V

15th letter from end  27 – 15 = 12th i.e. S

Midway  
18 12

2


 = 15th (H)

(43-45) : The series will be:

AZ CX EV GT IR KP MN OL QJ SH UF WD YB

43. (c) Left  16 + 1 = 17th i.e. Q

44. (c) 14th from right  27 – 14 = 13th from left

Midway  
19 13

2


 = 16th i.e. L

45. (b) J is placed between Q & S.


